BT All of these / 2g ndi

sz w g wtafafts 5 s e

H'm:h is & lunction of E-commerce ¢
{A] Markeling (B} Advertsing
(G)  Sehing (3} Al ot these
ey @ w4 i v g @
(8) e

Wi g ol

A commgnater ononterned are identified by
() a-mad aodresy

(B
[T} P address

(¥} Mo il theye

BT O T ] BHE B W)
P

(A} $ie u2a
4C] WMl udn

Strerd address

AT

(8] .lrf'l'{ FETL
(D) w8 8w
Wihich of the following can you use 1o
add times to the shdes in a presentation ?
BE SAIE e A e oo &
oo e 8 s ) a7 3uE 1 9wA
q7
(A}
B} Behearce limings button
(€] Slide Transition button

Shide Show menu

Which of the following s used to
idirectly track user activity on a
wehsite?

(A} Users 1D and Password
(8] Frnail address

(€) Cookies

fD) 1P Address

In Telegram Group "HaryanaJobs.in"
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Which refer o two graghic emtities

that are at 2 constant distante apan
along the length ¢

(A)
(B}
(€] Perpendicularty
{D) Chardality

7 e TR A

NFEE Fe TE i m e v

Uniformity

P aralletfism

Hefa o 2

(8) FE-IATA

Which drawing mstrument s used o

(A) TERETH

e

draw Circles ar
LA
(B)
(C})
ITJ:|

dares
Dvader

Compass

French curves
Set-sguare

g9 3N =9 €91 & v e e =

&1 AT =R
in) Teargs 8w
() W wd (D) TR

What is the guadritateral if all the four
sides equal and the diagonal
bisects at right angles 7

(A} Parallelogram

(B} Trapezium

(C} Rhombus

(D} Rectangle

a6 s W ow R feeeh 9wl yed
a9 7 3 famet aus wmafanfe
g e 7

ﬁjﬂﬁﬁgﬁq
(8) T
s

() wwmm

e




B Which is reflex angle ?

Tl s st wmd -
(4) 45° (8) 13p°
() 220~ = 180*

8. What is the drawing instrument ysed
for measuring angle ?
(A} French curve
{B} Protractor
{€] - Setsquare
(B} T sguare
aﬁmmﬁ%hﬁf?ﬁamﬁmlmm
ST e T 2
{A) T A \ (BT e
(c) wfn IR E=Tr

10. What is the linesr length of the entire
curve that = eguai 1o pl (D is the
diameter)

(A} Chord

(B} Sectar

(C)} Circumferance

(D) Segrment

T 6 A e s w2 o %
SUETE 7 (D= 8)
[A) sfta

ﬁ_gjfvﬁfb

11, What is the name of curve that has
iero eccentricity it equal to one ?
() Ellipse {B) Parabola

(B) Haw
(D) &2

(C) Hyperbola (D) Circla

3H 56 <1 w1 A & et v % auE
T AR 7

/ (B) WEe

Fiwss (D) ga

12,

13,

14,

15.

16.

WG

What s the interior angles for a
hexagon ?

Join Telegram SN

HeATE 3 o st s famn & 7 - g
AR 120° (B} RO ?h K
(€ 60" (D} 18° g
<

A o

Whal is the sum of exterigr angles for =

a hexagon 7
U WA o o = wien w1 e Reaen
i e 7

(Al 120° (B) 80
e B0e (D) 18°

The standard heights recommendad
by BIS for lettering on drawings are in
progresshee of

BIS W T3 w
HH G T B

HaTF & faw
_ Humi g

(A 'S (8] 3

-

"ll [E-Jf "|I-;|

(€] ~3
¥

Tomb of Sheikh Tayvab |4 Kaithal is
based on which architecture 7

(Al Persian {B) Rajput

(C) Mughal (D} Pashiun
wOE W WE e W neEn i
ST 0 ST 7

N (B) Treg

(C) H (D) =¥

Which Chief Minister of Haryana
banned the consumption of alcohol in
the State in July, 199 ?

{A) Devital (B} BansiLal

(C) B.D.Sharma (D) Bhajan Lal
efemm 3% frm geys 3 send 100s
aw 8 YRE F Fae gy wfEe s R
o7

(a) GliF  m) e
[qﬁﬁ,mf (D) W &ie




18.

e National Brain Research Institute
is located in which place of Haryana '
{A) Bhiwani

(B) Hisar

(€} Kurukshetra

{0 Guerugram

wEh i sgwwA e e %

Bamauywfm® 7

(4} P (83 TR

(C} TR SO TR

In' which month international crafts
fair is organized in Haryanas

(&) December (B) February

{C}  July [ June

g 4 srifs e 39 1 wEEE
iR d g e

(A) FE JB) HEE

(C) 4e7% D) 7

Which of the following s a police
district but not a state district of
Haryanad

(A} Palwal

(B) Hansi

{C) Manesar

o S qfew e R,

20

21.

22,

n Telegram Group "HaryanaJobs.in"

The Hathnikund barrage s located in

the distoct of ol Haryana

{J"'.'I Karnal (B) Yamunanagar

(C) Panipat (D) Sonipat
aheitas S sfwmn & FELE
fm R :

(A} BT Gfl) =T

() s () @

Generally, in which Testival i Loor
dance perfonmed ¢
(&) Diwali

[T}

yrete it wt g P aee o e

Mavrarm

(B}

Shireratri (B} Hl

I'-l‘\. “

{a) feawh (B} =T

() Pty G0} el

Which af the followlng distrnal doesn 't

fall under Hisar police range 7

(A) Hisar (8} Hansi

(C) Slrsa (D) Shajjar
frferfrae 4 8 = w Faen T giem
ot & terria 1 ST R

(A} fieene (B) Wl

(o) e D) W

in which town of Haryana 15 Kaushalya
dam located ¢

(A} Pinjore (B) Fandabad

(C) Ambala (D) Gurugram
Hierea wiw gl & e we i G
t2

(B) Wt

(©) swen (o)
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26.

27.

oin Telegram

In Yomuosnagar the Department of
Anhimal Busbandry and Dairying came
IR BT T
TR} ogwes uE Bl v
ayfeea § W 7

@ 1931 (B} 1982

[} 1979 [0) 1972

=Sl

The Indian Institute
Bartey Resesrch & locsted ot which
place of Haryana 7

{Al Hisar (81 Hans

(&} mEn (Bl &=
Cl == D) A

In which year, the Givil Aviation Wing
of Haryana Governmen! was formed ?
g wrEn & amie ames B oW
TR aE S e ;

15656

1982

~8)
(D)

(A} 1560
{Cl 1974

Haryana has its printing and packaging
dusters at which of following district ?
tA) Karnal
{C] Faridabad (D) Yamunanagar
BE % Boiiea 8 @ 5 B
T it R s § 2

[A] ¥ ) e

D} TR

(B} Panipat

roup "Ha

30

25:

Codt'y
wherg In

Cvbercrime InvesTIR A DU

krcated

Heaoguariers 15
Haryana ?

LA Hohtak

Earmal (B}
(C}  Gurugram (01 None gf thess

e WiEE SR a0 W ey

i

- b g 5
BTN T HE! Ha 8

[ & FAAI 1Bl T E-?"

= -

b B (Bl =9 |/ =k a5
A gico kg o e o -
Wi 54 - as Chanakva o
Harvana

&) Mool Chan

Chaudhary Bhajan

h 1

O Chaudhary Chihn

o Mamta Khasrab

:_"'_-\.:; THTET: ptREE

TR 95e I

B T WA TS
¢y =had sgEm

3] WA e

In which of the folowing districs,
Plant of ZROD MW

capatity s st up ?

(A} Fatehabad (8} Ihajjsr

{C} Faridabad (D) Panchkula
Prsrfisfon 3 & v R98 & 2800 TmEr
L

10 wiRER

MNuciear Power

(8) w=m
(D) FEF




elegram

launchied  book

which
{magazine) named "Shahd Bund”™ 2

Academy

(&) Haryana Urdy Academy

[B] Haryana Sshitys Academy

(€) Haryana Punjabi Sahitya Academy
(0} None of the above

fem amered! 3 “un g7 TR R
{afram ) o Fawres Ry

(A) - frmen 3d s

i) wfarm aviEm aEd
~fc) o el anfee s

(D) I 8§ iy a6

32,

What is the provision of cash reward to
Oilyrmpic Gold medalists in Haryana 7
(A} T4 Crore
(8). ¥ 3 Crore
C) 25 Crore
(D} T 6 Crore
gl § el @ 9es faaaa =)
e ORI S EEE R 7
(A) T4TR
(B) T3sa1E
(C} 5w

D) T6HIE

3 m "'““1" Agra Climatic zones are
there in Haryana ?

I B

34.

35.

roup "HaryanadJobs.in"

“pal Jo Yun Guzrein” a winner o

Haryana Sahitya Academy Shrestha
Krith  Award, Stary Award  and
Manuseript’ Grant for 2020 4
and Haryanvi languages = wiritten by

fn Hirdi

{a} Dr. Eharmilla

(B} LajpatRal

(c) Baljit Singh

(D) Vijay Vibhor

iy ity 2t s f 2020 % fer
g ey SRt A HlE TR,
wErdl greew 3 wglie FEE Ed
Gyt " g e o e I R T
AT E TRy (B}
(D) fasm feun

FTAUA T

(c) =erar fae

Indian Contingent bagged total 7

medals at Tokyo Olympics, how many
af them are from Haryana ?

{A) Four (@) Six

iC} Three (D} Five
e 77 A ZEl e A e 7

i, i @ e g @ 8 7
(#) = (8) we
AN (D) whe

Taoru town is located in which district
of Haryana 7
(A) Rohtak

(8) tind
L {B} _.Panipat
% e ol 1 a2

I i




Rajmohan Gandii
e e e M B
' *wﬂqdh# oy

38.  Pateti is the festival of

{A} Parsis B} Jains
(€} Sikhs (D} Buddhists
el e e 2 7

A (6 1

) fom (b} &

39, mﬂ'thﬂ motto inscribed under

a0,

&1,

The urtsce wemperature of the sun
is putimated as

(A} GO0 "C

(8) 12000 °C

(£} 18000 °C

(D) 24000 °C

o T A I;[mﬁ?l 2

() 1sooo T Afeumw
in) 24p00 Taf afeagn

Which Articie of the Indian Constitution
abolishes “Untouchabality® 7

wpefty wfra @ w9 oE S
(A} 14 B 15
(© 16 40




43, The cosmective tissue That rerinects

& muscie (o hone 13
fal Cartilage
f8) Lgarment
{C) Tendosn
() Interstitial fud :
aafl W Bt 3 e av A B0F 2
[A) FuriEs ig) feamms
JC) T (D) FEFTEE

44, ([SIR has tied up with which heaith
care instdution to ramp up Covid-19
testing in a2cross towns and rural
India #

(A) Ranbaxy

Ay
[C} Tata D
[Of Serum lestitute
wiae o Wity - |9 oftmw 5 =29 &
o e gEym TneE E T
TR ey
(A} T
iC} Zr o

\JBET A

D) HEg T

45. In which city of India is Sidi Sayyid

Meosque situated ¢
(Al Mysore

(8] Agra
(C) Ahmedsbad
(D} Nashik |
ot Fe afes wa & 5w w4
Teandy
%‘f" ; ﬁfﬁ -:'E:l] T
(D) e

|

45,

&7,

48.

gram Group "HaryanaJobs.in"

pivan words in

sprange the
lert the ons

siphabetical order and 52

3 romes Bt
-:::,I:'aqﬂ' Fh’"i Eﬂr:ﬁ"_"‘ ﬂ' ﬁfﬂf:?-nf‘i'_:ﬁf
i

ﬂhsu—ﬂﬂm”ﬁ“”ﬂa '

R

o, Townt
Cover, Code, Ceif, Cor
; b, !
wA) Cover A |

b TR P, al

(A} Cean =
II I el -ﬂ- ..l -
(£} Cods " N

. L " ‘. -
rﬂl {-EJWT 2=r o + - o

. P M.

> =

392 :15::521: 7 Zgo

Taday is Wednesday, after 103 days H

wiil e

(A} Sunday = "
(8] Wednesday &

(C} Monday

(B} Tuesday

A= T 2, 103 fe7 @ Fem
(A) T (B) AW
() WHaR JD) AR

49. The refiex angle between the hands of

Aty ﬁ ¢ vivall

¢S
sl

zclock st 7:30 s

(A} 290 degree

(B] 305 degree

[C} 350 degree

(D) 315 degree

7:30 7% wdl iy % = whrd
#

(A) 290 i (B) 305 ferdt

(C} 350 e \4D) 315 farf
= 3421
;ﬁ___g 2

L. has

(=
M 3
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52.

I certain AN CARRCN §y coded
“;'”,ﬁﬂml, haw s AVEN it coded in
codo 7

ot fal pfive vl W CARRON i
QACNOB & s o1 aitfige PRSI R

< g 1 AVENUE 61 A 1A 41 AT

LR,
i) EVAEUN (8] EUNEVA
() EVEANU (0] AVETUN

Find the missing entry in glven seres
following the same patlert

s B ) AR A i 1= L
i e ufafe s dhfre, |

DEE, (7)), i, HL, LiN, NIP

|A)] HFF T FFH

(€] GFH (D} HFG

A person moves friom home position
towards gasl by 10 km, then turms
right antd moves by 5 km, again turms
right and moves by 11 km, again turns
fight and moves by 5 km, again turns
\eft and moves by 1 km. How far the
person is from home position ?
(A) 15km (8] 16km
(€} 2 lm (D} Bkm
e, b ) o ) PR # qd £ 7
10 Fsft =reren 2, fipe ard A 23S
fopht meaett 2, figr & 2l qgen & AT 11
i e 8, R A gl HE 2 A5
Pt e 8, o7 & A E 2 31

st e 3 | e 7t A i A

farrfi g R 7

) 15 el

|

1 eteivl
3

Pl v, J'l".lf"-.'ihl.

ariel Willa, sl [riiry

poojs, Hanm,

Lpnang, ek
(reie faring eaih othef

A seated 0L
{ franl and

Vivek is thirg T the rght o
4 1o the jaft ol feshan
Wit of Teens

e fanl
sponnd 16 e and

| ot cresh L prisirig

frn progsedhate righ

far b BT Raril and Teana. POUE % it
oy - a2y

jeft i1l frihian

sitting between teeft ol

al t e
[JI'-!"..TJIH. nre

P -:i-.-:ufl‘" llr| o ._JF Ranl 1

qan, oA, O, I, Frar. T, (A
o Frent, 30 e YR g & wm w0
a0 4t W 9 R o, Tl A
&t 1A * Zm .-_:L--' LT ST B

rf1. e 7 48 zufl A G =+ A
o1l & | FE, T 3N sy i WA

'|_'.f'I | -1 B 2 | Tl X a3

oy % 7 26 v fomaA DafiE 95 g .2

(n} 2 (a8 4 o5 “1. . i
,JB'; ‘. [0y 3 . ur ;i)
o ;,r_,,-éu :

Choose the Venn diagram which best

prplains retationship among  ghven

Lems .
Engineer, SHake; Human Being
3 e g A Rl T

yey i T ey e B T B
i, |, §EH

((.

(D)




aroup "quyanaJobs Nk st

. C - N ¢ " _,,:,H &
e i '|.‘l-:-r-r A |‘I - -ﬂ‘ h ik ; ..'L. -|F".'
@ fﬁi ) - ﬂi-"r".' pALOL T ..-" .r;.e‘( i -
I b.‘_ {' '::'.-'-' = 4= it minutes IS Rohan Tahe
i i r
: ? I how many diferent ""W" can the l vy cover distanct of 700/m it he runsat
N " L
lotters of the word MAROAD | a speed of 10 kmy/hr 7
arvangied 7 afa fhed 10 Ryl perer o ot @ reen 3
-2 = - = —
e pRoAD § a1 T ‘ a1 38 700 W Al g ™ & 1
R ;. :,7-|ﬁ :- k
ey il 1 bt Foman <t 4 |I ﬁ[,'fr” ik ?
F -_.I.i‘..'l".lr ¥ L |
o0 (B} 270 | ® 5
- B} 540 # : o
(] Al 10 | : icy 92 (D) 4-
" 1
lar field 15 1 =
56. Dive side of o rectangular field s 45 M ' for T 88 with a profil
und une of i1s disgonals is 25 m. find | G0 ol “;;]& o I:”*:ul-:i far T BS, then
; of 10% iowEs LT
the ares ol the feld {fnm) Ll A haen the

",;-l;.*‘f; v apraesn A ) oo g 1 Hle B
: 3t g o Ry 25 dies B 15
wrgve (el o ) g BiFaer |
(A} 430 ) 300
() 380 {1 400
“?rﬁ
ST T S %2
57. B = s CTnen s i"‘LH;
.56 5H.67
(o iz "'a_l':.J_' 3‘:—_ﬂ|1= ¥
- J o
ﬂ %’-(J:% r Fini
} =" 0 (A} 567 Afl) 5620
P P T, o ¥
&2 ) 562 (D) 0.562
i
S8, The LCM of two numbers s 105, The

numbers are in the ratio 3:7. The sum

y 26

«g":ﬂ’“ of the numbaers Is

lﬁéﬂh ?‘Imﬁﬂﬁﬂﬂﬁmlﬂﬁ#l
30 7% s A & | wena a

(B) 57
(D) 53

6l.

Wl
approximate percentage of profit or

To oy

(A) B¥ Loss | .;q

a . ":‘l'.‘-". - Sar
(B} B6.25% Promnt Ry - T4
(C) 6.25% Loss Pkl ﬁr‘f“
(D] B% Profit *
o fTe 10% F B % @ T as g

arelt

| ufE g1 7 85 o = a9 e
1w w0 e uiEsa s Em 7

(A] B%® \{1;’1": 6.25% =4
[C} 6.25% 81 (D) B%TM
Find the compound interest on

4 35000 at 4% per annum for 2 vears
compounded annually,

2 35000 T 4% Wi ad il g @ 2 9 &
fon e = & eifm e =
il hifar |

35:" 1 I ’ !
I:AI 25_?53. (e L Y- PRSP
(B} 2462 ] S ¢
(€) 2823




-quq.r manl,- natural numbers between
‘145 te ﬁﬂ are Eﬁ:tlv drasible E:n'-,. 42
4%151?[ ﬁm‘lﬂ% 7 ;t:\;‘ : :l
Al 22 () 23 R
fcy 25

ol m

g3, Acanfinish 2 werk in 5 days and B can
do the same work in & days. A and B
worked together for 3 days and then A
left the jeh. In how many days B alone

carfinish the remaining work ?
A TS FW W G T 5 g AW HEAl 8
ApIFEm S e RAT TEAE |
a &t g % 3 Tet 7 == wme s e
At T A 2w we fant 9 e e
e (o femi A WER R 7
o) 1
(€ 5 (o} 4
64, Which of the following does not
possess gravitation 7
(8] Venus
(€) Saturn
[-ﬂ} Artificial satellite
MﬁMW TR 7

oin Telegram Group "HaryanaJobs.in"

@ya & L

§5. The upward force acting on an object
submarged in a fuid is calted
{A] bueyant force (8] weight
(€] pressure () Mone of these

frafl 7o 7 o B A W FECA AN
S 516 T e

W HA] Ererash =l
(B) oA

() =
(D} 398 5w T

66, A person s unable to see distant
ohject clearly, The defects with which
he e likely to suffered from
tal myopia
(8] tataract
(C} preshyopia
(D} hypermetropia
wr edfvs o1 @ aig FI BE T H TEe 0
el §1 53 619 9 I A L TE S |

) Pl am () SifsEEs

(€) gER (o) i

67. Which of the following statement/s
isfare true about CNG-Compressed
Natural Gas ?

{A) 1tis a clean fuel.
(B) Itis a harmful fuel.
(c) ltisa poliuting fuel,
(D) Afofthese




(4.

&9.

The pH range most conducive foi ife

of fresh water planiz and anmmals o

|A) 5 TA

B8 0t 35

iCl 35w hl

D) S0 105

Hid Wl & 90 WR A= & AT W

fove wud) wies geee fog gow b
K BSW S

() ZOD&EAS

) 35®s0

(C) 9.0% 105

Which of the followmng staEtemem B

always correct o

(A} AN Elorm hés sgos oumbes ol
slectronk and proiohs

8y An stom has enusl mumber cil
electroms and neutrans

iC} An atom hat sgual numbes ol
Profons armd neulrom

(D} An atom hay egual numbes of

Eill'.“l'.'[fDHE. ProtoEs and nEuklrons

Prafafss 4 & 14 @ w99 g 658

g @ 7

(A) w vy W waE deE A e
cricEl ol 3

(B) T SO A EOE He § @
A i @ R |

Mmﬂﬁxm@-ﬁ

g wa wd R |
e A gt

—_— S

in

7l

Which of the lollowing wiaming &
slorend i the Heor f

(&) Vitarriin E {H] Vitarmin O

(G vitarmn Iff Al af theys
Prearfeafigs A & i wn Tats wea 0
a5 A R

_;M: fgerfte & TABRL A LER &

jcy Tzl g o] e w

whit i the health effecy of emCons
flisorde in drinking watsr -

(M Floorags

1Bl T Fraihms

L) Lung disEass

:_:' | imEslinal e fer TN

$a & w4 winfees wEEEET W
ST 1 W RWE OEAT R 7

4R T qriTEd (B] T8

(C) SRl A (D) STaE R

what is the middle part of an insect
by present betwesn the head and
the shdomen called 7
(A} Thorax
(B) Head
(C] Abdomen
(0} Nope of these
fir 3 %2 % e e B2 win s
Wi &) e wmea B 7
g ERaE
®) fin
(c) %2

(D) = & % 3
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dd, ey the enioain for |
g umnd
jA) Chslgres
O Mrpesated Yo~ Con
Fe.  Choose Ine weord  whict
waibatiluted S
O
An  oformat=en
wacrehy
authooiny
(4] AdwOLaly

(8] Controwvers

s i
g

o DRy

divsemanuled Wl

vl Comweninan

et wiy

o

!_I.ﬂhmﬂihrmrmﬂprmnimmm

compiete the senlonoe:

el WA T

Enghish Language

75 Wineh g3l al ¢
i ST ECT r

@) Wnmatch
(D] Detmples

of the

e word

(B Freguem

LEEED

Ll

sl TRl

PIWED WD

=

Ay

As | was passing __ the house, |
saw & man standing ____ the gate

@ Pollowing WeTLEnCE

Wy halr 15 TufRORg rown without ¥ty

b redson
LA Wy a1

.'51 frirmsf BrOwWT

ppveiras rEaVon

writhput 2Ry

5. Fill n the blank with the cosredl foom

o werh

Yen gowng out Aow H anybody

feall) wehille | ______ be | oul, DI YOU

-

ToKe mEseEge |
[A) cals, =m
(R S, WA

i
Pl Cael War

(D} was callvng. wak

20. Choose the tomectly spelt word
{4 Guaranies
|8) Garamiee
1€} Gauranee
(D) Guarenty

Choose the meaning of the Rahczed
idiom used the given sentence.

i heavy investment in the stocks
{A). Very profitable

(@) Veryholy

Bl
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(T | = 8 B
| h) TuzE ~TEEe
oo e R e STomE e > ;
H'u:af . e || (8] HAE - FE
' ) i) EEE - seande
L]
" ‘ LB W - yiaad
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